D) @ v ‘-z(x(\\,(,,,) V- ¥ty ¥ ITNY
V(( Vs ( u{‘f’p)

Vm: 5 & - )2 . 7) Y - ¥Coly ct .93 2
Vm= =2 4 (9 yavsing- 25p% - 0.518
(V= 2e® pr | V1932 r 0519

@ ((t) = 4cn(wt 1 /&) T Xty 2 T
() = Tmco(wttp)
0:% A
s by

: S W= git = _= F 4 : -
¢ ¥ > 7 i % 'l?_ y=- ISINY

¥ & InTE 4 =y Y
ST TIRAE BB RETAIN

mzfu 24 V(077 vu;‘—' Um ¢

= 3 2P




FTINAGTIL Iy Mgy Wy wge

s
%, ‘ ; i
& { d P A Y -

™ i
} -~
\1 - o .. = :
— yreos /
— X o :
, o
e :
_raa AR
e

e d i A ’:’

g 7] - [ |

L Pl : : i 2

"A S {»y
il
\\
4 ey, ¢
T S e ;
L z - A D
~‘ { il
L]

! —;L o b a-48 090
£ £
e O 4748.@2"’

——

V(e) =t 9| ool 1ot — 48.41°)

e

.




vgrKrYv vy

e

w













Problem 5

ug‘u\j kVL : \1/}9: Vg—;vz_
2 —_—
(= ¢ W“’(V’
_H“"\qhe Vg = }2&.-%.,_ v, = OE;; oYL Ve st %)
| Rc

7,[.@/‘ Q»M‘rsn Sleoud d oé@i—u fvrm of A oot + B Smuwt

Aegume V) = & (orwt + B St
Tlen ot — A st + Bwswwt , subctitute int> (¥)

B _ Ve g0

— Awemwt+ wagw’f—(--éz s+ B ShWl = B¢
(BOO'f"gz‘) o3t + (—’E-E—&w) Cim wt = _Up_q(_ —
C«S?nfu”e e we/ﬁ%‘u‘eM‘;_
( Bwf@,zz = -‘i/fz =
\‘%'c"ﬁ"w = = R= AwWRC
L Vo

B‘: fFWRC = _ﬂ’ic__ "
w2R>C>+' VD
Ul = Heorwt+ Bsrwl

= Wy WRe N
Los Wt + ——\N—n—-—UO S Wi

I+ wWR S o

—

— __VD_.4~ . Vs WK C >
- \/(l-fw’/l’c’)“L ( B ) s twt )
twher S =Rt
o ({)_ éwkc-t-’ ) - Obﬁlh(_wﬂc)
Uy
Ve wlﬂ)C):H

Gy U) T ot v
.{.
JHwRe ot ) Y= aten twAc)




s (w'(--(—({))




